Sol\UTToNS = CHAPTER 3-CHAPTER TEST

Determine +he measure of +he indicated angle,
+o the nearest de,grc:f:.
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cos ©=(539*+ (44.4)=(39.5)*
2(539) (H4.4)
CosQ® =059+ 1971L.36-1560.235
MI36.32)
cosO=  3316.32
24796 .32
Cos®= 0.6999
©= Cos™ (0.6999)
©= MNG°

cos®©=00.)*+@8)=(q.¢)
2.(10.1)(9.4)
cosO= 10201+ 8R.3¢-99.1¢
18A.8
cos O = 94k.2\
1R94.% 8
cos®= 0.51772
Q= cos'(05172)
C©=3959°




Detrermine the indicated side lena-}h,‘}*o tne
nearest +enth of a unit.

4, x X = 60
< Sin37° sin710°
6.0 km rainIFe = .OsSin?d]°
7 Syer=10° Sin 710°
X = 3.9 Km
(A)3.8km C. 4.6 km
B. 4.2 km D. 5.0 km
5. E * =(24.3)4 (3.3 2(24.3) (34 3)coses’
243m 343m =590 49+ 117649 -1666.980.83746)
K=11766.98-62AN.MS07
X x*= [[42.8293
X = N 1142.5293
A 272m C.222m

(8) 33.8m D. 383 m X=-33.8m



X = 13.%
Sindl®  Sin 60O°
Ao = 13.RsinH)’
SinGO" Sin 6O0°
A 156cm  C. 122cm X =10.5cm
B. 7.8 cm ®) 10.5cm

x X% (3%.7) (8¢ 8) - 2(587X86.8)cos 5T
X*= 345,69 +7334.24 -0 190.3200 54%)
86.8m 38.7m X*=10979.93 -5549.6483
J X2=S430.9817
A 1022m  C. 904m X = NSH30.2.817
B.855m  (D)737m X = "73.77m



Q. Determine the indicated Side length, o +he
Nearest Tenth of a unit, Or angle measure,
+0 +he nearest dearc,g.

a) In A ABC, b=14.0m ,C=93m,and<A=6G"

Q*=b*+c?*2bc cos A
a?= (14.0)2+(93)*-2(14.0)(93) cos 66°

o= 196 + 8¢.49—-9060.4 (0.HO0GT)
A*= O/2.49-105.9047

Q*= 1176.5853

a= V765853

G= |33 m

Therefore , A= 13.3m.



b) ITn AVWX,V=60cm, X= 85 cm,and<W=90!

W3=v2+ X*—2VvX Cos W

W2 = (G0)* +(83)*=2(60)(85) cos0°
W2=3600+7225 - 10 200 (0.9397)

W*=10%25 - 9934.94
W*= 1240.06
W= \I240.06

W =335.2,.cm

Therefore ; W=35.2,cm.



¢) In ADEF,d=42.2cm e=47.9cm,and
+£=80.1cm.

Cos D= e?3+f2-d?
e+
cosD= (41.8)*+(S0. )= (42.2)*
2.(47.8)(S0.1)
cos D= 2284 %4 + £§510.01-171¥0.8Y4
47%89.56
cosD= 3014.0]}
<147189.9G
cos D= 0.6295
D = cos™ (0.6293)
D= 51°

Therefore, <D= S8\"




Q. A Canoct lE:QVES C dQCK on lakKe Clo,ire: and

heads 'n g direction NTI°E for laA%m .
Atrthe same +

iMme., O Second canoe travels
%\,lcx divection S2R°E Hom +he dock o
A KmMm.

18071~ 8°=Q1°

=)+ GED=209)6G0) cos §1°
X=3.61+Ac!1 —-11.718(0.1564)
X*= 13.22.-1.84 2.4
X*= 11.377¢

= 3.M Km

Ihe drstance between +he

cances 1S 3.4 Km .40 +he
Nearest tenth of'a Kilometer.



13. lwo airplanes leave Hay River airport
At +the Same +ime . One flies at S30Km/h.
The other flies at 330 Km/h. About 2. h
later, +hey are 1200 Km apart. Determine
+he cmga\e etween Their paths, +o +he

NnearesY+ degre;e,.
A cos@ =100)%(660)*(1900)
m/\mm 2.(100)(660)
Cos O= | Joonn+43IIC00 - 1440000
1200 km | 452 000
cos3®©= Q05 coo
| 452 000

Cos@= O. 141G
© = cos™' (014 16)
Q= ¥2°



4. An airplane i's Spotted by two observers on
opposite Sides of 1+. One +he qround, the
observers are ISCOmM apart. One’ observer?’s
line. of sight +c +he airplane makKes an 83°°
angle withhe ground. The ofher's line o fSight
mMakes a 9°angle With the ground. Determine
the drstance -'F%o;%\ each observer 1o +he airplane.

A 1R0-64>- B3 =DR"
c b b . = 19500 C  =1S00
SINEA° SIiNAB’ SIN83 SIiNAg”
g L& B3\ ¢ DSIpIF=[5COSINET° CSInO§"= |Scosingd
ISCOm SIHD% SINJB®°  SIndR Sindg°
b=39983m c =317l m

One observer was 9983 m Tom +he airplane,
While +he other observer was 3171 m Away -
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